Section-A
Answer 1o Question Np,

(1) If the Proportionage
demand. j¢ is called

(A) Rejutively inelastjc demang.

(B} Relatj vely elastic demand,
(C) Perfectiy inelag

tic demang,
(D) Parfecﬂ},r elasti

¢ demangd,

¢ liquidation of iis assets, [
Pays X 20 milljon to its Creditopg and Preference Shareholder
of theip claims, 11 the number 0

sinfull ang final settlement
fequity shapeg of M. Ltd, s 2 million, the liquidatjop
value per share woylg be
(A) F1 per share
(B) T 10 per share
(C) T 12 per share
(D) ¥ 15 per share
(1ii) Given: The growh rafe i

8 1S expectad to be 8%. The B
1.60 and the retyrg on the market index i 13%. Th
(A) 149

€la of the stock ig
- W€ required rate of

retum woulg be

(iv) Performance will be 4 Product of .
{A) Efﬁr.:iency and Utilizatiaop
(B) Utilization and
(C) Efﬁcien{:y and
(D) Efﬁciency,

Productivi ¥
Productiyi Ly

Utilization and Pmducﬁvity
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the

the present yalue of the expected cash flows.

ture value is greater than

(v) i the divesti
divesting frm will =S

yalue of the
(A) increase on the divestture

(B) decrease 00 the divestitore
(C) reynain same of the divestiture

(D) None of the above
npetition and at the p

B

oint of equilibrium of firm

i) Under perfect ot
(M) MC curve st be falling.

(B) MC curve must be rising.
(C) MR curve must be falling.
() None of the above

(v

_ 94 — 1/2+/q where P & q denote

ig given by the equation: r
jasticity fot P = T 20.

{vii) The demand curve for X
price and quantity respectively. Find the price point €
(A) 64
(B) 48
(2
(D) 60
(viii) RICO Lid. has pAT of X 40.20 lakh with exta ordinary income of Z 7.00 lakh. If the
cost of capital is 70% and the applicable tax cate is 409% the yalue of Rico Lid. will be
(A) X 250 lakh
(B) T 180 Jakh

() 7 150 lakh
(D) Insoificient information

(ix) A bottom-up approach used in 8
gy implcmemuﬁon

(A) strate
\tional plan

(B) formulation ol oper:

() formulation of tactical plan

(D) reverse mapping
robability of a produc

trategy formulation i known as iz .

(x) The p ¢'s failare in relation to @ UmMe frame 18 categorized as the
dimension of
(A) Conformance
(B) Durability
(C) Reliability
(D) Aesthetics

—
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(x1) Monopolistic competition and Oligopoly are the examples of markel,

(xii)

(xiii)

(xiv)

(xv)

(A) perfect

(B) imperfect

(C) no markel structure,
(D) All of the above
Net Income ¥ 1650; Interest Expenses T 20; Tax on Income T 900; Cash Sales T 5000
and Credit Sales ¥ 2100, in this case what would be the DuPont Return on Equity?
(A) 0.33

(By 0.23

(C) 0.36

(D) 0.51

Net operating profit before tax 1 crore, Met operating profit after tax T 98 lukh, Weighted
average cost of capital 11.5%, Average cost of capital 13.5% and total capital T 700
lakhs, then economic value added will be

{(A) 10.50 lakhs
(B) 16.50 lakhs
(C) 17.50 lakhs
(D) 18.75 lakhs

Market price of share ¥ 500; earnings per share T 25, dividend per share ¥ 50, what
would be earnings vicld?

(A) 5%

(B) 10%

(C) 15%

(D} 2%

A company with PAT of ¥ 60 Crores, Tax Rate 30% plus a cess of 3%, Return on

Equity is 20%, Other Equity ¥ 225 Crores, PAT of the company is growing by 8% per
year then equity share with a par value of ¥ 10 will have EPS of

(A) 22
(B) T8
(C) T 10

(D) Insufficient information
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Section-B: Business Valuation

Answer any five questions from Question No. 2 1o Question No. 8 in Section B,

2. (a)

(b)

3 (a)

(b)

Each question carries 14 marks. 14x5=70

Brielly explain three fundamental aspects of CRM to facilitate building relationship
with customer. Discuss the impact of CRM initiative on an organization, in terms of

enhanced risk that it may face. 7

Explain the objectives of the Management Information system. Discuss different Lypes

of reports prepared under such a system. 7

Bajaj Ltd., a monopolist, can effectively segment the market into two sub-markets with
the demand functions; P = 300 -2Q, and P, = 200 - 2Q,. 1f price discrimination is
allowed, what is the maximum possible profit that can be earned by the monopolist?

7

Explain the interrelated components of an Enterprise Risk Management framework

Advocated by Committee of Sponsoring Organization’s (COS0). 7

The following financial statements have been extracted from the Annual Report
2022-23 of SURY A TEXTILES Ltd. alargest textile company, having a strong presence

in over 80 countries in the world.

The company wants to keep its shareholders happy by giving them a fair rate of return.
The company is using return on equity (ROE) as one of the metrics of performance
cvaluation for determining the return for shareholders. Due to intense competition, in
recent years, its ROE is under pressure and to maintain the level of ROE, the company
is to change its business Model-in that, it is varying its margin, assets utilization and
leverage.
You are required to:
(i) Carry out the DuPont Analysis considering the financial parameters given below
and show how the return on equity (ROE) of the company is changing due to
change in its Margins, Assets utilization and Leverage over the period of four

years.
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(11} Give your comments on the trend of the said parameters,
Statement of Profit & Loss for year ended March 31
{Amuunt in¥ Lrnre]

L 2020 [ 2021 202 [ 2023 |

TEﬂEImJe 7998 | oo 9976 / I 1%44,

Pruﬁt_ hei’urc tax 18‘55 __IE_2_| 199{] ! _E_HT_T"_

Profit after tax ISH 1345 | 1574 | 2110

Dmdcnd 22‘? ___?Lj_ __‘?'E - E::- J

Tax on dmd::nd S0t 51 36 J_ 8 |
Fctamcd f:amm;_ﬁ _I ? o GQ 1’%13 _J_ 1847 —|

_:[__________ 2020 | 2 2021 | 2022 IZH :Tl
| & F‘quntjr and Llahlht}’ : :_ i Ry~ | _I
Sharchulders fund | T |
Share capital 225 | 225 225 225 |
Reserve and Surplus 8055 | 9034 | 10347 | 12 94
Non- n-current liabilities; L()Elﬂ fgds _T_|_ GelBR 17| 13 1352 |
Current liabilities Deferred (ax 251 | 206 | 324 192—||
Putal 8538 10172 | 10913 14163

e — % =t _if__4

Non- On-Current assets: Fixz:d ass&&_ T?T‘E 4369 4685 | _iﬁﬁ
No Non-current J_I]‘L’E’ill'ﬂu'lt ETI—I— ?EJ'QJ 1449 ]—3642

Inv vestmens- ["um:nt A.saers 4%93 5(](]4 4??5'—l— ?Qi? 1
= e - ’lﬂtal |_8538_L I{HTI l_tIISl]_’-! J_lﬂ63_|
7

(b) Using Altman’s Model, compute the valye of 7 from the provided data (Balunce Sheet

extract):

__[_1ah111tlus ) ir__%_ — T meen _:1:1:_ |
Share Cap]ta] (@ ?1[} ;:a_u,h_ 2 00,000 I_Xed Aseet& L Sy 42[},{}[}0
Reserves & Surplm - 60 DU[}_r Tuventnry il ﬁ[ﬁlﬂﬂﬂ_ |
10% Debentures | 300,000 | Book De Debts | 70,000
?undﬁ Cfdli}l‘s_ | Eeo06 |Louns ns & Ad‘mnces _|_ 20,000
Ouistanding Bxpenses |~ gp, ”Uﬂ_r CaoshatBank | 10,000

_Total | 700,000 _j@__j;ﬂwﬂj
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LT,

Additional Information:
Market value per share I 12.50
Operating Profit (20% on sales) F 1,40,000 7

(a) The following information of Achal Ltd. are given:
Current dividend =¥ 2.50 per share
Discount rate = 10.5%
Growth rate = 2%

Based on the above information of Achal Ltd, you are required to

(i) Calculate the present value of stock of Achal Ltd.

(ii) Assess stock of Achal Ltd. whether it is overvalued if the stock price 18 ¥ 33, ROE
i 9% and EPS is T 2.25, Support your answer with complete workings. 7

(b) Monika is trying to value Chat App, a Chat Messaging App that currently has 16
million users but does not generate afy revenues, She has identified that WhatsApp Wwas
recently valued at USD 17.5 hillion while having 450 million users. Considering the
difference in size, Monika believes fhat a size discount of 95 percent should be applied
while valuing Chat App. The foreign exchange ratc is INR 65 per USD. T

6. (1) You have been asked to find the value of an office building having rateable area 300000

square feetin Bandra, Mumbai based upon ‘comparable propertics’ sold in recent years.
There have been six property sales in the surrounding arca. Markel rent of the building
is T 5 per square feet.

ﬁ@a—jaaﬁ—m@@;ﬁggamﬁmgﬂ
TP | @inCrore) |Rate (%) |fectinlakh) R in D)
Astra _@L4_ELJLi@_'j@;1
Happy Home | 180 o5 | as | 475 |
= e pee THER T
Bandhan _ G0 | o | o400 | G907
| oae | w | i i d
JeeyanDecp | 120 g s S
Required:

(i) Estimate the value of the building based upon price per square fect considering
occupancy rate of 94%.

(ii) Estimate the value hased on price per gross rent. 7
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Particulars '“TEEEBQGHI‘ELEBQI pany-(
[Debi _‘_‘_‘_‘_‘_‘_‘_‘_‘_‘_‘_‘_‘_‘_151@:‘:ﬁ@“ e
%EE&E@E&EE@@%&L____LU@E@Q __{1.50,00 -
Enterprises Valye | 2,00,000 2,00,0
. 000 om0 - il
gﬁﬂﬂfﬂ%ﬂwﬁ@ﬂﬁﬁzﬁfﬁ__T________ e Y
LApplicablo Tax Rate is 250,

Compan ¥ A

Ades g
C. Th

C Managemeng

HF;QEE&ﬁﬁﬁﬁi§£JF
of Cumpan}r A believes th

1ts pcerﬁ_ti_h;npa:ﬁf_ﬂ_;n?]_(_“._u_

mpany
at the lower p/g of the Company js
not justified. The Management tagm, believes he market just doesn’t understand
is siratepy or performance,
Required:
Assunu’ng book valuey 4le representative of marker valyeg calculate the P/E and Evy
EBIT of each Company ang assess whether the Management is oy n their thought
Process, 7
7. (a) Radha [ Amited jy intending acquire Krishna [ jmy; ted by merger and the following
information ig available in respect of both the Conmpanies:
Particularg Radha Limijteq Krishna Limited
No. of eqQuity shyres 6,00,000 2,00,000
Profit afier 14 INR 20,00.000 INR 10,00,000
Market Price poy Share INR 2¢) INR 15
Required;

Compute the fﬂﬂuwfi]g.‘

(1) EPS o both the cufnpauics
(ii) Exchaugc Ratio

(b) ALtd. is considerin
13 given below:

Particularg A Ltd.
Present earningy ¥ 7.5 lakhs [
Equity (No. of shares) 4.0 lakhs
EPS T 1.875
P/E ratig 10
Required:

lowing questions:
¢ market price of cach company?

s the market capitalization of each company?

£ the acquisition of B Ltd. with stock. Relevang ¢ inancial informat;

7
on
B Ltd.
2.5 lakhg
2.0 lakhs
T 1.25
3,
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(iii) If the P/E of A Lid. changes to 7. 5, what is the narket price of ALtd.?
(iv) Does market value of A Lid, change? 7

8. (a) The following information is pumdcxl relating to the acquinng company X Ltd. and the
target company ¥ Y Lid.

X Lid. Y Litd.
No. of shares ®EV.T10 each) 10.00 lakhs 7.50 lakbs
Market capitalization (in3) 500.00 lakhs 750.00 lakhs
P/E rativ (times) 10 5
Rescrve and surplus (in ) 300.00 lakhs 165.00 lakhs
Promotet” s holding (No. of shares) 475 lakhs 5.00 lakhs

Board of Directors of hoth the companics have decided to give 4 fair deal to the
yharcholders and m:::,mdmgl}r for swap ratio the weights are decided as 40%, 25% and
359 rcapc»;twely {or Earnings. Book value and Market price of share of each company:
Required:
(1) Calculate the swap ratio and also calculate Promoter’s holding percentagé after
acquisiion.
(i1) What is the EPS of ¥ Ltd. alter acquisition of Y Ld?
(ii) What is the expected market price per <hare and market capitalization of X Ltd.
afer acyuisition, assuming P/E ratio of firm ¥ Ttd, rematns unchanged?
(iv) Calcuolate free float market capitalization of the merged firm. 1

(b) XY I 1d., a retail Rorist, is for salc at 4an asking price of T 62,00,000. vy ou have been
contacted for a pntﬂmml buyer who has asked youo 10 give him opinion as to whether
the asking price is reasonable. The pntbnual buyer has only limited information about
3y Ltd. And pmentml puyer docs not know thal annual gross sales of XY Itd. 18 about

7 92.00,000 and that last yeat's tax return reported an ¢ anpual profit of T8,
tax. You have collected the following information from the financt
retail Aogsts that were up for sale in the past:

Table 1
Paiptn ~Prcertosile B/ Trafio | Priccrto-en roin
|Humhcr of firms | __f:_E___ T s ___J‘-J.l_..
Meaﬂ raLm . 0.55 il 3.28
|Cne|.ﬁc1cm ot'\ﬁmﬂum € == 9,65________ —— L
' Mammum ratio gl el _2._{: " [_______fl_______

~ Table -2 Top 10 players ! in descendi o P/S order:
LA TRl sl
|(B/S) ratio JLE 35 _13@ 73 {17 | 109 [ 1011 096170
I{PfP}Mulupla 5.65 | 6.29 5.31 46 | 393 3.25 L_i‘sl 290,

Required: R - )

Offer your opinion on {he reasonableness of the asking price. 7



